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% 1. (23 4 )Consider an ceonomy with one public good, (7, a {laxable) privale gond, ¥, + and
A an untaxahle private good, x,.  Assume that (e lechnuelogy is such that g, = p, = p, =1,

o Assume that the economy has a identical agents with endowiments w ol good x, and
5':'/4 utility functions

Li=x,+ gglnx+ Flnds
aj  Fuul the lirsl-best provision of the public good G Is this unique?

by Suppose that the government is constrained to pay for the publiv geod with distortionary
tnxes on v Find the second-best tax, £, on pood 1. Whal is lhe second-best level of @7
at this optimum?

e} Lompare you answers in (a) and (k). Which has the higher.level of (77 Tiisenss your
answer n derms of Pigow’s (19970 argument about funding  public goods  with
iistortionary taxes rather than lump sum tnves. Alan relate voor discussion to Atkinson
and Stern’s (1974) treatment of Pigou’s argument.  Are the results of Atkinson and Stern

eonsisient with yvour resolts?  Why or why not?

2 25 41
art 1 Consider the twa-sector peneral-equilibriom model of tax incidence attributed to

Harberzer INTUITIVELY deacribe the incidence of

ad A tax on labor i the X sector when the elasticity of substitution between capital and labor

15 2ere in bolh seclors,
By A ax on capital in both secwors.
Part 11 MNow wie vary Harherger's two-sceror peneml-cquilibriom maodel to be a two-counrry
general-equilibrium  model of tax cempetition. Capital is freely mobile between two
countrics, whereas labor 1% immmobile.  The total supply of the world capital i3 fixed.  Both

countries tax capital invested within borders to finance government spending,  [xplain
INTUITIVELY:

Al The incidence of the capital laxes.
B Will the level of spending in hath eonnrriea be Pareto efficient?  'Why or why nat?

¢ I censider the growth of capital, how will answers in (8} and (b} change?
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EK 1o A consumern ma lhree-good economy (goods denoled xp x; and X, prices
denoted p,. p, and p, } with income level me > # has demand functions for

4"/"2 commadities 1 and 2 given by

5P
v =w0-5E0, pFa 51

£ B b
X - a+ﬁ£¢+ rfiha‘f—,
P P B

where e, 4 ¢ and & are nonzero constants

{a) Calculate the restrictions on the numerical values of o, £ ¥ and & implicd hy
utility maximization.

() Ghiven your resulls in part {a), for a fixed level of x, draw the consumer’s
mdifference curve in the x,, x, plane.

(e 1What does your answer 1o (h) imply ahout the form of the consumer’s ulibity
function Ly, ¥, x )07 { 18%)

2. Suppose the production function f{x) 1s concave function with nonputs {x,.%,,...,
%, }. Suppose also that 2fix)idx, > O forall i and %220, i—1,., nand that the
mantonx DY &) s negative delinle at all x, The oulpul price and input price in the
compelilive markel denote pand w respectively. Use the firm's first-order
conditions and the implicit function theorem to prove the lollowing statements:
{n} An increase in the ourpul price always increpses the profit-maximzng level
of oulput,

(1) An icrease in oulpul price increases the demand for some imput.
() An increase inihe price of an imput leads to a reduction in the demand for the
input. {18%)

1 Conzider an Edpeworth box economy with two consumers (i=1, 2 and lwo gouds

{j=1, 2} in which the consumers have the Cobb-Drouglas utility functions
gl x = s xn where U=ega0and =1, 2. Consumer i's endowments are

fwg, weol>> Dwith W, =w, +wy, forj—1,7
(a} Sulve [or e sywhbown poce rabie (g1 f 3 ) and allocationd x5

(b How do these chanpe with a differential change inow? [ 14%)
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